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Bascal/ C/Java B 7% ! Visual Basic g 7%
P1] =1, Q[1) = 3 P(l) =1, o0(1) = 3
P{2] =0, Q[2] =5 P(2}) =0, 9(2) = 5
P[3) =1, (3] = 8 P(3) =1, 9(3) = 8
() SER ENC-
[Pascal B zx)
Procedure ENC;
var
i, 3, k, current ! integer;
begin
k = 1;
P[1] := BD[1,1];
Qrl] := _1;
current ;= _];
for i 1= 1 to 4 do
for j := 1 to 4 do
if (BD{i,§] = ) then

Qlk] := Qik] + L

else begin

k :=x ¢+ 1;

P[k] := BD{i,5];

Qfk} := ;

current := BD(i,5);
end;

end;
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void ENC(} {
int i, j§, k, current;

k=1;
,

P[1l] = BD[1][1];
current = —];

for (i=1; i<=4; i++)
for (3=1; j<=4; 4++)

L€ BD11) (5] = L_ 1)
okl = orx) + L_ T;

else {
k++;
Plk] = BD{il(3];

Q1]

Qlk] = L
current = BD[i][5];

[Visual Basic i 7]

Sub ENC ()

Dim i, 4, k, current as Integer
k=1
P(1) = BD(2,1)

Q1) = 4]
current = ka __1

For i = 1 to 4
For j =1 to 4

If BD(i,3) = Then
Q(k) = O(k) =+ LA* 4]

else
k =k + 1
P(k}) = BD(i,3)
Q(k) =
current = BD(i,j)

End If

Next j
Next i
End Sub
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[Java RE Zx ]

void ENC{) {
int i, 3, k, current;
k = 1;

P[1] BD[1] [1];

1l

Q1] ;

current = ;
for (i=1l; i<=4; i++)
for (3=1; j<=4; j++)

if (BD[i][j} == I)

Qlk] = Q[k] + ;
else {

k++;
P{k] = BD[i](]]:

Qlk] = ;
current = BD[i][]]:

}
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